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QUESTION 1

Which statement is TRUE about the QN modifier as it is used in the LITI language?

A. The @N modifier is a NOT (negation) modifier

B. The @N modifier is available in all concept rules

C. The @N modifier expands a noun term to include all noun stemmed variants of the term
D. The @N maodifier specifies the starting byte location N where a word should be found

Correct Answer: A

QUESTION 2
Consider a 224x224 image provided as input for training a CNN for image classification A 5x5 filter is to be used with a

stride of 1 for the first convolutional layer What size padding should be applied in order to maintain the original
resolution to provide as input to the next layer?

Enter your numeric answer in the space above.
A.3

Correct Answer: A

QUESTION 3

Given these two addLayer action calls:

addLayar modsl='mymodal' nams="fcl"
layar=(type="fullconnaect"' n=20)} srclLayers=("data"):

addLayer model='mymodel' name="fc2"
layar={type="fullconnect' n=50} srclLayers=|"fcl"}:

How many trainable parameters for layer fc2?
A.70
B. 1050

C. 1020
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D. 1000

Correct Answer: D

QUESTION 4

Which statement describes a situation in which a bi-directional recurrent neural network is a better option than a
unidirectional network?

A. The data at any given point in time depends on both the previous and subsequent elements of the sequence

B. The data at any given point in time depends only on the previous elements of the sequence

C. The data at any given point in time is independent of both the previous and subsequent elements of the sequence
D. The data at any given point in time depends only on the subsequent elements of the sequence

Correct Answer: A

QUESTION 5

Which statement is TRUE regarding topic creation in the Topics nodel?

A. Topics Map can be used to explore the topic and terms associations

B. Term density can be adjusted using a sliding bar in the Term Cloud panel

C. Custom topics can be generated using user-specified terms

D. Exact document density threshold value can be supplied in the Edit Topics Properties window

Correct Answer: A
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